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State the theorem or postulate that proves a || b.
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3. What s the value of y for which a || b in Exercise 2? u6+ = I,BD
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Which lines or segments are parallel? Justily your answer.
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12. Parking Two workers paint lines for angled
parking spaces. One worker paints a line so
that mZ1 = 65. The other worker paints a
line so that m£2 = 65. Are their lines parallel?
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Algebra Find the value of x for which { || m. /
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@Develuping Proof Use thégiven information to determine which lines,
if any, are parallel. Justify each conclusion with a theorem or postulate. 15 J[79f1n @
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Algebra Find the value of x for which ¢ || m.
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Algebra Determine the value of x for which r || s.

Then find m£1 and m£2.
3. mZ1=80—x, ms2 =90 - 2x
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